

Juices



About the company

Es Komerc d.o.o. was founded in 1992. Until 2000, it operated exclusively as a wholesale company. After 2000, it began developing a retail chain. Since 2012, the company has been investing in a new manufacturing plants.

We now own 25 retail facilities, a conventional and organic pasta production plant (manufacturing type of production), a frozen pizza and homemade pies production plant, a conventional and organic jams and juices production plant and 1300 t cold storage for deep-frozen fruit.

ABOUT THE COMPANY ILOVE THE GOODNESS OF PEOPLE

Cold-Pressed Juices

VoLim juices are always 100% cold pressed, for premium quality.











PRODUCT NAME	EAN code	Pieces per box	Box per pallet	Total piece per pallet	Pallet weight (kg)	TMC (months)
VOLIM - COLD-PRESSED JUICE APPLE 750 ML	8606108926604	6	154	924	1093	24
VOLIM - COLD-PRESSED JUICE BETROOT 750 M	IL 8606108926628	6	154	924	1093	24
VOLIM - COLD-PRESSED JUICE ARONIA 750 ML	8606108926475	6	154	924	1093	24

Fruit Juices

No sugar is added to fruit juices, the sweetener is cold-pressed apple juice.







PRODUCT NAME	EAN code	per box	per pallet	per pallet	weight (kg)	(months)
VOLIM - RASPBERRY FRUIT JUICE 750 ML	8606111710009	6	154	924	1093	24
VOLIM – BLACKBERRY FRUIT JUICE 750 ML	8606111710016	6	154	924	1093	24
VOLIM - CHERRY FRUIT JUICE 750 ML	8606111710023	6	154	924	1093	24
VOLIM - PEAR FRUIT JUICE 750 ML	8606111710030	6	154	924	1093	24
VOLIM - CORNELIAN CHERRY FRUIT JUICE 750	0 ML 8606111710047	6	154	924	1093	24

Quality management system

Es Komerc d.o.o. determines its quality direction and manages quality-related business activities following modern trends and market requirements. We guarantee our business partners and consumers that they receive top-quality products made through the production processes supported by quality standards Organic EU, Organic RS, IFS Food, BRC, Halal.



Contact:

ES Komerc d.o.o. Velika Zupa bb, Prijepolje, Serbia volim@eskomerc.com +381 64 856 0808 www.volim.rs







